EARAROBEEIERT — 2 N— IBISH —F

2012568118 (B) 3mEIlliE1H

m#—“ﬂv S —4% B2B3 ¥5%—MH (w8 | mEmml - |5 0 v s
[A&4£] 1 7% :2,600,000 ~ 23 :780,000 33 :520,000  ~ 43#&:312,000 @ 5 7 :208,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
c e e HEd : —5-5- - IFRSTE (A
1 B # o4 | BE 2o 5-5-5-3 | 37.3 5 <4+813; ﬁgfé ()
:770—F B:R42—-"zxH adbe ]
5 4 5 | FlBEX 1:27.3 2-2-2-2 |37.9| — 1 448 | /NAIRE (BN
2 7|>a—%7 57.0 (1 1/2) 1) | LBULF
L:O—YXM42 44 B:Ya—-<)a FEHS
44 | KHESE 1:27.5 4-4-3-4 | 38.0| — 3 466 | UARZE (HA18)
3 g|FT b 57.0 (11/2) o |REHT
L Z2ZARHR By TN — 535 Kikis
o_ AisER . ST _ AAKAZ (J111E)
4 NEIIEYA i 5 2. 1.(227).9 6-6-6-6 | 38.0 10 ?:330) o
L:TANRTy a1 BTTNnNY— ESPI
SFEE .08, 07— . — SBIRHTE (J118)
5 5| ¥ 7EFDY b o9 7 1(228)3 9-9-7-7 |37.8 9 (4+737) e
RHYUSFheA— BVIEHIET— N2 e
58 L ER+ :28. —7-9- . - IE—BR (i##0)
6 || 7T H o6 L 1(728t>3 7-7-9-8 | 37.8 7 (5_252) /ﬂ?m*ﬁzm
R:THFAR B:ITU—ZA—b FRYES
R it 6 | HEfE— 1:28.4 1-1-1-1 |39.2| — 4 478 | HIIES (#318)
7 10| 7ARZXE—FK 53.0 (7€) (-p) | ERAH
LYY TFTR B TU—INR S LAY TT—L
S — g~ BEHB . -10-8~ = NAAZ (e
8 qlo=—wrz=v> i 8 ek 1(.12/82.)5 10-10-8-9 | 38.0 8 (4_4‘3 i
R:T7TxXa%AL BRNZyMT1—2 BA77—L
— o . Ar—1t . 34— — thE e
9 4| FLERT 2N - # 5 o (11.218/.28) 3-3-4-5 | 39.2 2 ;1_525) *ﬁ%hﬂ( 5)
L:¥xrin1O— B:o-Livor HR& All%E
— s &M :29. —-8-10- . — EHEME (H)
10 3| AxEL= i 5 s 1 (259)9 8-8-10-10 | 39.0 1 tg? SoEZ
L:tr/a704 BIXJ-—XbEAL REHS
S ATHER : -11-10- — 12K (Maig)
11 o | N7 4 —ILK it 6 el 1(.13/02.>o 11-11-10-11 38.9 6 (fﬂ) oo (
= NFXYTF— BiLHY—T1—IFK AW RS
® I —F—@EBIERL
13=7r= 10,7,4,8,6,9,1,3,5,11,2
2ol=5= 10,7,4,8,6,9,1,3,5,11,2
Gal=5r= 10,7,8,4,6,9,5,11,1,(2,3)
40—+ — 10,7,6,8,4,9,5,1,11,3,2
[ N3
H OB 6 1,310 714K 6-7 360M % E 6-6 910M 3EHE 6-7-8 900M
8 B 6 180F4 6-8 550M B 6-6 800M K31 6-7-8 10,040
7 1009 7-8 190M B E 6-7 870M
8 120 B H 6-7 2,770A

ABICOVWTRDTEEERROODE. TR LIV,




